QUADRATIC PROBLEMS


MATH 3204  
Use a quadratic equation to solve each problem:

1. The product of two consecutive integers is 182.  Find two pairs of numbers that satisfy this condition.

2. A rectangular garden is 3 metres longer than it is wide.  Its area is 54 m2.  Find its dimensions.

3. The base of a triangle is 5 m less than its height.  If the area is 33 m2, find its base and height.

4. A rectangle has area 6 m2 and perimeter 11 m.  Find its length and width.

5. The length and width of a 4 cm by 9 cm rectangle are both increased by the same amount in order to form a rectangle with area 66 cm2.  By how much were the length and width increased?

6. The outer dimensions of a picture frame are 14 cm by 18 cm.  The area of the exposed picture inside the frame is 192 cm2.  How wide is the frame?  

7. A sidewalk of uniform width is built around three sides of a rectangular playground lot.  The playground dimensions are 40 m by 28 m and the total area of the playground and sidewalk is 1320 m2.  What is the width of the sidewalk?

8. A painting is 25 cm by 40 cm and there is a frame of uniform width placed around the painting.  If the frame area is 504 cm2, what is the width of the frame?   

9. A rocket is fired from the top of a building and its height h, in metres, at any time t, in seconds, is given by 
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.  Find the time(s) when the rocket is at a height of 176 m.

10.  A spring is placed on the ground and when it is released, it shoots upward such that its height h, in metres, is given by 
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for ant time t, in seconds.  When is the spring 12 m above the ground?
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